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MS-ACCESS
In an ER diagram, the rectangle represents:
(A) Attribute (B) Entity @ (C) Record (D) Relationship
In 3NF, a non-key attribute must not depend on a:
(A) Key attribute (B) Composite attribute  (C) Primary attribute (D) Non-key attribute @
The output of the query is in the form of a:
(A) Form (B) Obiject (C) Table @ (D) Report
In MS Access, text type allows maximum number of characters up to: |
(A) 254 (B) 255 @ (C) 260 (D! 266

Select a data model which is more flexible among others:
(A)  Network data model (B) Hierarchical model  (C) Logical. datamodel (D) Relational data.mode] @
In a table, each primary key value should be:

(A) Unique @ (B) Summarized (C) Non-unique (D) Null
C-LANGUAGE

Format specifier % .3 f for the value of —.005 will produce output:

(A) [1.005 (B) -.005 (C) []—.005 (D) —0.005 @

Select a statement which is used for making two-way decision.

(A) Switch (B) If —else @ (C) If (D) nested if

Consider x = 12 and y = 13, the output of the expression x >iy? x + y: x — y; will be:

(A) -1@ (B) 1 (C) 25 (D) 15

Select the loop in which condition is written beféfé the body of the loop:

(A) do — whileloop  (B) wend loop (C) i loop (D) while loop @

Local variables are created in: '

(A) Hard disk (B) ROM (C) @ "RAM @ (D) Cache

On successfully closing arfile, the fclose ) returns: C%é} ©

(A) Null (B) 0 @ 1 (D) -1

A program that combines object prqogram with-additi@t files is:

(A) | Linker = (B) | l.cj (C) Preprocessor (D) Interpreter

An equivalent expression to a/= b is: @ -

(A) b/=a (B) @=/b (C) a=a/b ® (D) b=b/a

Select format specifier that displays character.on the screen:

(A) % d B % f (C) %c @ (D) % X

Select the operator used for string concatenation:

(OR) VISUAL BASIC

(A)  —(Under score) (B) & (Ampersand)  (C) /(slash) (D) + (plus sign)
In VB which statement is used to declare variable:

(A) Sub (B) Dim (C) |dentifier (D) Event
The entire select case construct is terminated with:

(A) End Select (B) Case Else (C) Endif (D) Stop select
The statement that will immediately terminate a For .... Next loop is:

(A) End for (B) Exit loop (C) End loop (D) Exit for
Select a control which is invisible at run time:

(A) Label (B) Image (C) Timer (D) Drive List Box
A window that requires the user to take some action before the focus can move to another form:

(A) Modelessly (B) Modal (C) Modular (D) Module
The rectangle symbol in flow chart indicates:

(A) Process (B) Input (C) Output (D) Condition
In Visual Basic, a form is another name for:

(A) Tool (B) Property (C) Object (D) Code
The property that changes text color is:

Back color (B) Font color (C) Fore color (D) Text color

(A)
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SECTION-|
MS-ACCESS
2. Write short answers of any six parts from the following: (6x2=12)

li.
V.

vi.
Viit.

v,

vi.

I‘i’"||

.

vil.

Vil

Differentiate between data and information.
Consider the following figure and indicate the

Asif Ali 10 | 4

2 Aysha | 10 | 4 4__]
3 ,__Saleem 11 )

Field names and records:;

ClassiD | DeplD j]
A

Write two responsibilities of database Administrator.
How will you determine that software development is feasible for an organization or not?

Write two difierences between cardinality and modality of a relation.
Why it is important to normalize the relation before you use it for storing data?  vii.  What s the purpose of IDE in MS-ACCESS?

Differentiate between design view and data sheet view of table. IX. Write purpose.of ‘validation"and ‘input' maskproperties.
C- LANGUAGE
Write short answers of any six parts from the following; (6x2=12)

Define siring constant. Give an exampie.

Write the equivalent staterent in Language-C, for the following: §'= Vit -i—% ats

Predict the output of the following code segment’ Int a=T7;
Int y =3,

Printf ( “%&, %dy,x/y,x%Yy) ;

Find errors in the-following: Void main ()

Compare getch and getche function
Find errors in the following tnde segrent

Void main ()

{

Mty x = 5=

int y

sum=x+Yy

Printf (“%d”, sum);

}
Find the output of the following code segment: Void main ()
{
pakcity.org Prt:nt f (’ How lt:zre | t vou”y;
% - @ Print f ("|nbBye”);
}
How file is opened in C-Language? iX.  Define file pointer.

(CR) VISUAL BASIC (V.B)
Write short answers of any six parts from the following:

Differentiate between design time and run time. 1. Define IDE.
Write down two steps for creating Visual Basic project. iv,  Distinguish between object and event.
Describe key up event. vi.  Distinguish between hiding and closing of a form.

Define focus. vii.  Name and explain two styles of combo box



%. Distinguish between ‘Default’ and ‘Cancel' properties of command button. Rawa|p|nd| Board-2024

C- LANGUAGE
4. Write short answers of any six paits from tne following: (6x2=12)
. Why should you use a default label in switch siructure?
i, Determine output of following code segment: Int X=1,Y, =;
If ((x ==y y==2)! (z==2))
Print f (“yes”);
else

Printf ("No");
i.  Write the syntax of do while loop.
iv. Convert following code into while loop:  Void main ( )

{

Int i;
for(i = 1;i<=10; i+ +)
Printf-(“Pakistan”);

}
v. Determine autput of following code: Int i, p=.1;
For (i = 1;i<6;it+=1)
P x= 2;
Printf ("%d" ,P);
vi. Define between actual and formal parameters?  vii. What do you know about user defined functions?
vili. What is the scope offocal variable? ix. Whatis function definition?
(OR) VISUAL/BASIC @
4.  Write short answers of any six parts from the following: Q@

.. Write the syntax of message box in VB. i abis concatenation and when would it be useful?
i.  What is compound condition? Give example. OQB en should an if block be used instead of select case block?
v.  Wher should you'use do while loop? %@.l Which statement terminate do and for loop early?

vii. ~ Write the syntax of do-loop until. @ vii.  Draw flow chart of do loop while.
ix.  Wiite output of following code segment: O® =4 |
Uo
’Q* Print @i

\
QQ i=i+1

Loop while i <=5
SECTION-II

Note  Aftempt any one guestion from the following: (MS- ACCESS) (8x1=8)

5. What are data base anomalies? Briefly discuss insertion, deletion and maodification anomalies.
6. Explain any four data types available in MS-ACCESS

SECTION-!il
Note  Attempt any twe questions either frem “C-Language” or “Visual Basic”. (8x2=16)
(C-Language)

7. Describe the characieristics of high-level programming languages.

8. Write a program in C-Language which takes three members as input from user & display the smallest number by using logical operators.

9. Write a program that displays first five numbers and their sum using while loop. : -
(VISUAL BASIC) c@'pa kcity.org %o

7. Describe the characteristics of high-level programming languages.

8. Write a program in VB which takes three numbers as input from user & display the smallest number by using logical operators.

9. Write a program that displays first five numbers and their sum using while....wend loGp.
134-12-A-
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MA-ACCESS indi
1.1.  In ERD model, the relationship beiween the two entities is represented by a: b pmdl Board-2023
(A) Diamond symbol (B Rectangular box (C) Qval symbol (1) Line
2 In 3NF. a non-key attribute must riot depend on a (n):
(A) Non-key attribute (B! Key attribute () Composite key (D) Sort key
3. The data in table is entered in:
(A) Design view (B Normal view (C) Data sheet view (D) Layout view
4, How many are the layout of Form™
(A) 2 (B: 3 (®) 4 (D) 5
h. Which of the following represents a collection of concepts that are used to describe the s re?'é“ base?
(A) Data warehouse (B Data model (C) Data struc Data type
6. Insert command is used to insert: ;
(A) A new table (8 A new record (©) A view {DN Dependencnes
C-LANGUAGE ( e TSN .
7. The function getche ( ) is defined in: ) ; i
(A) Stdio.h (B) String.h (€) \\ Mathh, (D) Conioh
8. Which of the following is NCT sele.ction statement? ("‘“‘“‘“x\
(A) If & Switch (@) \hue \ If-els /
9. When condition never becomes fzlse the loop becomes: \ 2 /
(A) Infinite loop (B Continuous loop (C FIHI@/ ~ested | /p/
10.  Function prototypes for built-in functions are specified in: i
(A) Source files (B Header files (C) Ok ect files /\(D} --—-Im@ files
11.  Clanguage was developedin: ™\ @
19?4 \ (D) 1977

A) 1969 B) 19?2\ @
12.  Tocompile a C language prograrm use: %
() \ \/Mg /(6 F3

(A) F2 B TNAl
13.  Which of the following operator fias the lowe ¥
! ( == ©) +
ar r ) signment operator (D) Logical operator

14,
1.
a=a/lb (D) b=b/a
VISUA

F The statemen nextpapynsa

(A) Endfor 8 Exit loo (€) End loop (D) Exit for
8. The upper bound of aray with 10 ?&%is:

(A) 01 )] " 1 (C) 9 (D) 5
9.  Which method cauces the cdqtrol fo be re-grawn?

(A) Refresh 1 ‘/é Set facus (C) Visible (D) Move
10.  The prefix for naming a menu itgni:

A M ) mnu (C) mne (D) Mn
11.  The diamond symbol in a flow chert indicates:

(A) Input (B) Condition (C) Process (D) Qutput
12.  To exit visual basic:

(A) Ctri+Q (B Alt+T (C) Alt+Q (D) Ctrl+Z
13.  One can enter data in a control only when it has:

(A) Focus (=) Control (C) Tab order (D) Mask
14,  The expression 3 mod 5 has a vahie equal to:

(A) 2 (B) 3 (C) 1 (D) 0
15.  The entire select case construct is terminated with:

(A) Case else (B) End if (C) End select (D) Stop select

637-12-A-
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S AGGESS
Writs short answers of any six paits from the following: 16x2-12)
What is data redundancy? i Define synonyir. ii.  What is the role of data administrator?
How many primary keys can be defincd in a table? v. Why is list box used in form?
How referential integrity is attained? vil, What do you mean by IDE?
What is the use of query wizard? ix. How does a data base differ from a table?
C LANGUAGE
Write short answers of any six parts from the following: {Bx2=12)
What is high level language? il Distinguish between compiler and interpreter.
iil. Why the logical error is the most cifficult to trace? iv. Define syntex error.

Write the legal characier for an identifier.
Rewrite the expression x+=: 2, without using compound assigment operato
Predict the output of the following code segment:  vili. Find error in the fdﬁowing code sagment:

intx=13; Integer x, y, sum
Print of ("%d %d %d",x/y,y, X, x%Y), PR (“sum = %d", 2);

How is a file closed?
(OR) VISUAL BASIC

Write short answers of any six par:s from the following:

What is high level language? ii.

Why the logical error is the mos: difficult to trace? v

een compiler & intarpreter.
rhQr.

Write the legat character for an identifier. vi. n event.
What is mouse move event? /_/vfﬂT‘“'*What is key up evej Pow form isginloaded?

C LANGUAGE _
Write short answers of any sjk patts from the following: ) > (Br2=12)
Determine output of following ¢ode segment: @ Datermine gutput OMW cede segment:
Int n,a,b; V¥ = 3 g =3, !

n = 400;

: oliowing statement in C
lapguage:

| emperafure is between 25 and 35.
A Differentiate between while and do while loop.
" % Whatis nested loop?

Gonvert following codato for 100p:

ntc=2
Do
Print f(“%d”, C);

While (€ <= 5); /

: {OR) VISUAL BASIC
Write short answers of any six paris from the following:

What are Active X controt ii. ~Define command button control.
Detine procedure level variable. iv. What is the purpose ot “caption” property ol control?
Which tunction loads a picture at run time? v. Whatis meant by event procedure?
Detine” lacked" property of texthox. vii. Differentiate betwaen image and picture control,
Detine comba box control. 3 s £
SECTION- c@ pakcity.org %n
Attempt any one question from the following: (M.S ACCESS) 2 s (Bx128)
Explain features of database managiement system. 6. Whatis ER diagram? Give an example of ER diagram
SECTION-I
Aitempt any two questions eithes from “C-Language” or “Visual Basic". (Bx2=16)
“C-Languag:" “Visual Basic”
i I T
Write a program in C-language which prints the sumofthe 8. White a program in VB which prints the sum of the
following serles by using loop: following series by using loop:
7 a4 » vgrgtgtig

GAP. 97 A,
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.8,C & D to
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front of each question with Marker or pen ink on the answer sheet provided

MS-ACCESS c@hpakcny.org%o

1.1. Which of the foliowing object of database is used to retrieve data from database?

- (A) Queries (B) Forms (C) Reports (D) Tables

2. Areferential integrity constraint is a rule that maintains consistency among the:

(A) columns of two tables (B) two columns of same table

(C) rows of two table (D) attribute of two tables
3. Arithmetic manipulalion of data is known as:

(A) Summarizing (B) Classilying (C) Sortir%@ (D) Calculations
4. An attribute is also known as: @

(A) Field (B) Table 48R Row (D) Relation
5. In ERD Model,the relationship between wo entities j resented by a:

(A) rectangular box (B) oval symboi %S (C) diamond symbol (D) line
6. Every relation must have a:

(A) candidate key (B) prim ) (C) secondary key (D) alternate key

C-Language

7. Aloop inside the body of ano _

(A) For loop hile loop (C) nested loop (D) infinite loop
8. Function prototypes for built-in functions are specified in:

(A) source files (B) header files (C) object files (D) image files
9. Every statement in a C program terminates with:

(A) Colon (B) Semicolon (C) Delimiters (D) comma
10. Preprocessor directives are commands for:

(A) Microprocessor (B) lLanguage processor

(C) Loader (D) C preprocessor
1'l. Which of the following operators has lowes! precedence:

(A) = (B) 1 {C) == (D) +
12. The logical not operator,denoted by!, Is a:

(A) Uniary operator (B) Ternary operator (C) Binary operator (D) Bitwise operator
13. The escape sequence for Tab is:

(A) \f (B) \n (C) \r (D) \t
14. The format specifier %f is used for:

(A) Character (B) Integer (C) Double (D) Float
15. A compound statement refers to a group of statements enclosed in:

(A) () B) {} (€) [1] (D) ""

637-12-A- Y0 W -
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Section-l (MS-ACCESS)
2. Write short answers of any six parts from the following. 2 x 6 =12
i. List two properties of relation. ii. What do you mean by primary key?
iii. Define data modeling. iv. What is cardinality?
v. How is MS-ACCESS loaded? vi. What are reports?
vii. What is Join?Write its purpose. viii. Write uses of query.
ix. Write two advantages of using a microsoft ACCESS IDE.
(C-Language)
3. Write short answers of any six parts from the following. 2 X 6 =12
i. Why is C known as strongly typed language? ii. Describe header file.
ili. Write shortcut key to run a C-program. iv. Give any four examples of valid variable names.
v. Differentiate between constant and variable. vi. What is high level language?
vii. Determine the outpul of the following code vili. Find errors in the following code
segment: int P=20
int m=0, n=5 if(P 2 @
if(m%n=>1) p ,
printf("success"), @
else o %%O
printf("Failure"}; %
ix. Write an expression in C-language for (he giv ent. ageis from 18 to 25.
4. Write short answers of any six parts froi lNowingy. 2x6 =12
i. Write the syntax of printf and scanf fu cg@. ii. Define the term stream in context of file handling.

lii. What is meant by character inpuld iv. Find lhe errors in the following code segment.

C-programming language? a=10;
Avg=0,
While(a<=10);
Avg+=a
v. Trace the output of the following piece of code. vi. Determine the oulpul of lhe following code segment.
for(int x=1;x<=10;x=x+4) int j=5,
printf("%d\n",x); While(j<=15)
{
printf("Pakistan\n")
Fit2;
}
vii. Write down any two benefits of funclions. viii. What is meant by scope of variable?
ix. Enlist escape sequences used for different purposes.
Section -II {MS-ACCESS) . 8x1=8
Note: Attempt only one question from the following. :
5. Write four major components of database system. £ pakcaty.org 08
8. Define functional dependency.How do partial dependencies affect a relation? 08
Section -III (C-language) 8x2=16
Note: Attempt any two question from the following.
7. Define programming language.Discuss two main lypes of programming languages. 08
8. What is control structure?Briefly describe basic conirol struciures of C program. 08
9. Write a program that prints odd numbers between(1 to 100) using for loop. 08
: 638-12-A-—-
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ITE: Write answers o the queastions on objective answer sheet provided. Four possible answers A B,C & D to each
estion are given. Which anewer you consider corect, fill the corresponding circle A,B,C or D given in front of each question
1 Marker or pen Ink on the answer sheel provided.

L

MS-ACCESS
The logical grouping of characters Is a:
(A) Flle (B) Record {C) Field (D) Database
. Avirtual table that is constructed from other tables is called:
(A) view (B) Table {C) Relation (D) Tuple
In an ER diagram,a diamond represents:
(A) Entity (B) Attribute (C) File (D) Relationship
.. Which form of dependency is removed in INF?
(A) Full Functional {B) Non-Functional (C) Transitive (D) Partial
The maximum number of tables in a database are:
(A) 01 (B) 02 () 03 (D) Many
In MS-Access, Find and replace command is found in:
(A) File menu {8} Edit menu (C) View menu (D) Tool
C-Language
. Division by zero (e.g., 5/0) is an example of:
(A) Compiler error (B) Run time error (C) Syniax erro <§ (D) Logical error
Which of the following oparaiors has lowest precedynce? b
(A} = (B) C) ﬁ) (D) !
The escape sequence for backlash is:
(A) A (B) v (0) W

"~

. Which statement causes = loop lo te

. An if statement Inside another if statement Is ullod'

(A} H statement ©(8) d-eise statement N.W i statement (D) switch statement
. When s retalional axpression is falee it has
(=Y

(A) 0 (8) 1

] D) §
ary?

(A) End (B) | (C) tbreak (D) exit
. Which of the following is a inC?
(A) It-oise-if ( (C) ielse (D) for
. Global variables are created in:
(A) ROM (8) RAM (C) Cadne (D) Hard disk
On successiully closing a file In C,the [ciose( ) returns;:
(A) 0 (zero) (8) NULL (C) 1(ON§) (D) File pointer
OR Visual Basic
. Which event detacts the pressing of standard displayable character»
(A) Keyboard (B) Keypress (C) Click (D) Load
. Which dalatype is used to handle a Yes or No response?
(A) Boolean (8) Short (C) Integer (D) Date
. The default message box style is:
{(A) Retry cancel (B) Yes Mo Cancel {C) Yes No {D} Ok only
. IF...END IF statement inside ancther IF statement is called: N -
(A) IF..END IF statement (8) IF...Then sta\omern .
(C) Nested IF statament (D) IF..ELSE..\F “@ pakcity.org %"
. The expression 15 MOD 4 has a value equal fo: 2 £
{A) 3 (B) 5 © 7 D)8
The statement that will inmediately terminate a FOR...NEXT loop is:
(A) EXIT (B) Terminale (C) Exit For (D) END
Which of the following is a loop stalement in visual basic?
(A) IF...Then.,.Else (B) IF...ELSE {C) IF..LEND IF (D) FOR...NEXT
. How many options can be selected if a frame contains four option butidng?
(A) 0 81 € 2 D) 3
Data can be entered in a control only when it has:
(A) Focus (B) Mask (C) Event (D) Method
637-012-A-%
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Computer Science (cuay 1ype)
Time: 2:10 Hours Marks: 60
Section -1
MS-ACCESS
2. Write short answers of any six parts from the following. 2x6=12
i. List fils names from usage point of view. I, Who is a data administrator?
lil. Define attribute with example, iv. Why is Normalization used?
v. Define dala integrity. vl. Define form,
vil, Stats the use of wild cards, vill, What are check boxes?
Ix, Difereniiate batween data redundancy and data incansistency.
C-Language
3. Write shart answers of any six parts from the follpwing. 2 x 6 =12
I, Write the purpose of defina directive. Y. Whydoyoul a "stdio.h" header file in c-program?
Hii. What is the purpose of include directive? . Detemine oﬂho code.
Jint y=5;
0%{&9 priati("%4 \t %d",x%y,xly);
v. What ls compound condition?Glve sn example. Haw an arithshatic overflow occurs?
vil, Find errors @%S vill. Dewgrmine he output of the following code.
Include <stdio.h> @ int 8£10;
void main ( void ) O nt p=i2;
( IN ¢,
¢eg+b;
int x=}
orindf("c=%ad",- -c);
prip(“%hdt.x) B X
}
Ix. Write the use of printf( ) function with an example.
4. Write short answers of any six parts from the following. 2x6 =12
|. Determine the output il. Find the emor
if (T%3=s0) void mal ()
printf (*Punjab™); {
alse Far (int A=1; n<=5, nee)
printt ("Sindh*); : printf("%a’,n);
il Defins compound stalement. lv. What is nested loopA
v. Delermine tha output vl. Find the error
int ne'y vold main ( )
o8 {
{ 1
print (“%d \n".n); =i
kst IFF (y==S)
} Whiie (n<ss); printi("%ad" y);
}
vil. Why is lunction used in program? vill. Describe function definitiorl

Ix. Compare binary and text siream.

Please visit for more data at: www.pakcity.org
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OR Visual Basic
. Write short answers of any six parts from the following.

2 x 6 =12

. What Is program? Il. Which language translator Is used in visual basic?

. How visual.basic code is execuled? iv. Defing the purpose of code window.
. Whal is differeace between project and form. vi. Define event and method.

, Detarmine the output. viii. Find errors in the code.,

DIM x As Integer %o DIM x As fioat

x =713 o@ pakcity.org x=3.5

print x x+x=7.0

. What Is sctive-x controi?
. Write short answers of any aix parts from the following.

. Define compound slalement. [l. What Is nested loop?
Find the error Iv. Determine he output
Dim y=10; as integer Dim n=1 as Integer;
IFF y=5 than do
printy print n

L “' n<=5

Oetlermine output vi. Find
If (7%3%0) then %(‘\g IM n=1 as Integer

print "Punjab”) @ Form=11t05

ciso @%S print n
prin{"Sindh");

. Why is function used In program? @ viil, Describe function definition,

. Compare binary and text stream.
Section -II

MS-ACCESS
o} Attempt only one question frgi the following.
Define data modsling.Explain ingredient of data modeling.
List down diferent data types i MS-Acceds.Discuss lour data types.
Section -I11
e:Attempt any two questiogis either from "C-anguage” or “Vieual Basic".
C-language
Define data type and dsgcribe three types In betail.
Write a program in C l4nguage thal inputs 8 number and finds whether It is positive, negative or zero.
Define while loop and ditferentlate while and do-while loop in detail.
Visual Basic
Define data type and describe three lypes in detail.
Wrlite a program in Visual basic that inputs a number and finds whether it is positive,negative or-2ero.
What is Do-While loop?Discuss flowchart,syntax and example of Do-While loop In detail.
6838-012-A-—
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MS-ACCESS
1.1. The graphical query tool is known as:
(A) Query grid (B) Design grid (C) Query form
2. Aform within another form is called:
(A) Sub form (B) Main form (C) Multiform
3. The extension of image file is:
(A) .exi (B) .doc (C) .bmp

4. A primary key that consists of more than one attributes is called:

(A) Foreign key (B) Composite key (C) Multi valued key
5. Merging the relation is also known as:

(A) view integration (B) view entities
6. A report may be based on:

(C) view tables

(A) Table (B) Field (€) Byte @@
C-Language @
7. While Loop is also called: O
(A) Conditional loop  (B) Wend loop @wmr loop
8. Which is a loop stunt?
(A) if (B) if else ) switch

9. A built-in function:
(A) cannot be redefined (B) can be “(
u,u

10. The following function is used to read ter from a file:
(A) pute() (8) (C) fputs()
11. The ".exe" file in c-language i ced by
(A) Linker (C) Compiler
12. Variable cannot contain a(n).
(A) Number (B) Underscore (C) Letter
13. Which of the following is not valid Escape code?
(A) ¢t (B) W ©) v
14. Another term for a conditional operator,
(A) Ternary (B) Binary (C) Byte
15. Conditional operator takes:
(A) one operand (B) Two operands (C) three operands
OR Visual Basic
7. Logical operator:
(A) And (8) = (C) >=
8. How do you find loop statement in following options?
(A) if else (B) if (C) switch
9. The keyword use to terminate a Do structure:
(A) Loop (B) End do (C) Exitdo
10. In counter controlled loop it is important to declare and counter variable:
(A) Identify (B) Initialize (C) Size
11. The ".exe" file in visual basic is produced by:
(A) Linker (B) Loader (C) Compiler
12. In Visual Basic variable cannot contain:
(A) Number (B) Underscore (C) Letter
13. Which form property will put text into title bar of the form:
(A) Title (B) Border text (C) Text
14. Another term for a condition operator:
(A) Ternary (B) Binary (C) Byte
15. MoDt is:
(A) 20 (B) 1 (C) 0

(C) cannot return value

(D) Design form

(D) Header

(D) .ppt

(D) Global key

(D) view relations

(D) bits

(D) Nested loop

(D) for

(D) should be redefined

(D) fgets()
(D) Interpreter
(D) Period
(D) ¥

(D) iteration

(D) four operands

(D) <>

(D) for

(D) End while
(D) Specify
(D) Interpreter
(D) period

(D) Header
(D) lIteration

(D) 2



Rawalpindi Board-2018

Inter-(Pari-11)-A-2018

|Roll No. To be filled in by the candidate

Sessions;2015-2017&2016-2018

Computer Science (esssy ype)

Time: 2:10 Hours _ ~ Marks: 60
c@pakcity.org %‘: Section -1
- - MS-ACCESS
2. Write short answers of any six parts from the following. 2x6 =12
i. Define data manipulation. ii. Describe network model.
ili. Write any two uses of form. iv. Define the term cardinality.
v. Describe the term synonym. vi. Briefly explain normalization.
vii. State the use of reports. viii. Define filter.
ix. Differentiate between fixed length and variable length field.
C-Language
3. Write short answers of any six parts from the following. @@ 2 x 6 =12
i. Differentiate between compiler and Interpreter. ii. Defi code.
iii. State the purpose of header file. ive @} assignment operator?
v. Enlist logical operators. %eﬁne escape sequence.
vii. Find the error . Find the error
Void main () @ void main ()
{ N
intc=7 2 : int a=10
printf("%d",C; printf("%d",a);
)
ix. Write the output :
float =3.14159;
printf ("%8.4f" f);
4. Write short answers of any six parts from the following. 2 x6 =12
i. Find out two errors from following code. ii. Find output from following code
if (x==y) int price=10;
printf(‘hello") if (price==10)
{ printf("%d",price);
iii. Describe selection structure. iv. Define :entinal values.
v. Find out output from following code. vi. Convert while loop into Do while loop
inti,j=0; inti=1;
for(i=1;i<=5;++i) while (i<=15)
{ printf(*%d%d",i,j)} { printf(*n",J)
i=i+1;}
vii. What is function? viil. Differentiate between function defination and declaration.
ix. Define a stream.
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OR Visual Basic

3] Write short answers ofany six parts from the following. 2x6 =12
ml. Write any two properties of algorithm. ii. Why is assembly language called symbolic language?
iii. How properties are set at design time and run time?  iv. When is the visual basic in design time?

v. Define project explorer window. vi. Show the output. 3 ;

Dim A,B as integer c@ pakcity.org %ﬂ
A=10 2 $
B=A"A/A
print B
vii. Find the errors viii. Show output:
Option explicit Dim R,S,T as integer
Dim D,E integer R=9
D=5 S=4
E=13 T=R*S+15
F=(D*E)+7 Print T
Print F
ix. Differentiate between structured and object oriented programming.
4. Write short answers of any six parts from the following. 2x6 =12
i. Define Expression. ii. Define named constant.
ili. What is specified variable declaration? iv. How is charactt ed in VB?
v. What data type is used in storing data? vi. List out U‘ with examples.
vii. What is meant by data type? viii. Show'oulput of following
0% Dim A,B, as integer
@ A=20
@%B B=A"A
@ Print B
ix. How to write following expression in V! o
Yo 3Y
Section -II
MS-ACCESS
Jote: Attempt only one question from the following. 8x1=8
5. Define key and discuss its different types. 08
6. What is data type?Explain six different data types available in MS-Access. 08
Section -III
Jote:Attempt any two questions either from “C-language” or “Visual Basic". 8x2=16
C-language
7. What is bug and debugging?Explain types of errors in C-program. 08
8. Wirite a program in C-language, which inputs two numbers from the user and determines whether 08
the numbers are equal or not.
9. What is While loop?Write its syntax,also draw flowchart. Explain its working with the help-of an example. 08
Visual Basic
7. What are controls?Explain three basic controls in Visual Basic. 08
08

8. Write a program in Visual Basic, which inputs two numbers from the user and determines whether
. the numbers are equal or not.
9. What is While-Wend loop?Wite its syntax,also draw flowchart. Explain its working with the help of an example. 08
638-012-A-—
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